Reference: EXAM / JPP / BITIC / NOIDA / BBA-SIXTH / (SP/19) / 2018-2019

By the order of Examination committee, the following is the result of BBA - SIXTH Semester held in the month of APRIL-2019 Date : 08-JUNE-2019

SESSION	N : 2018-2019	CLASS : BE	A	BI	RANCH	: MA	NAGEM	ENT				SEI	MESTE	R / TRIN	1ESTEI	R : SI	XTH		MONTH O	F EXAM :	APRIL-	-2019
		1	J BI	BA6001(2)	BBA	5002(3)	BBA	5003(2)	BBA	5005(3)	BBA	007(3)	BBA	5009(3)	BBA6	5011(3)	BBA6	013(3)				
ROLL NO	NAME		L BE	BA6015(3)	BBA	6017(3)	BBA	6019(3)	BBA6	5021(3)	BBA	003(3)	BBA	1005(3)	BBA1	.007(3)	BBA1	009(3)	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GI	R. PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BBA/4501/16	AASHI CHOJJAR		J B	12.0	A+	27.0	B+	14.0	-	-	-	-	-	-	A	24.0	-	-	146.0	19.0	7.68	_
BB/1 1301/10	THISTH CHOSSTIK		L B	+ 21.0	B+	21.0	-	-	A+	27.0	-	-	-	-	-		-	-	110.0	17.0	7.00	
BBA/4503/16	MONAM UPADHAYAY		J A	16.0	A	24.0	A	16.0	A+	27.0	B+	21.0	-	-	-	-	-	-	155.0	19.0	8.16	_
			<u> </u>	-	A	24.0	-	-	A+	27.0	-	-	-	-	-	-	-	-				
BBA/4504/16	BHAVY BHASIN		J D		A+	27.0	B+	14.0	A+	27.0	A	24.0	-	-	-	-	A	24.0	148.0	19.0	7.79	-
			L A		-	-	-	-	-	-	-	-	-	-	-	-	-	-				
BBA/4505/16	KUNAL SHARMA		J B		A+	27.0	B+	14.0	A	24.0	B+	21.0	-	-	В	18.0	-	-	136.0	19.0	7.16	-
			LE		-	-	- D:	- 140	- D:	-	- D:	- 21.0	-	-	-	-	-	-				
BBA/4506/16	VIBHUTI AWASTHI	l'	J E		A B+	24.0	B+	14.0	B+	21.0	B+	21.0	-	-	-	-	-	-	137.0	19.0	7.21	-
			J E	_	В+	18.0	В	12.0	A	24.0	_	-	- B+	21.0	- B+	21.0	<u> </u>					
BBA/4507/16	PREM VERMA	Ľ	L B		ь	16.0	Б .	12.0	A	24.0	_		Б,	21.0	Б,	21.0			129.0	19.0	6.79	-
			J B		A+	27.0	B+	14.0	Δ.	24.0	B+	21.0			B+	21.0	В	18.0				
BBA/4511/16	SOUMYA PUROHIT	<u>[</u>	Э В	+ 14.0	A+	27.0	B+	14.0	A	24.0	B+	21.0	-	-	B+	21.0	В	18.0	139.0	19.0	7.32	-
			J B	+ 14.0	- A	24.0	-	16.0	-	-	-	24.0	-	24.0	-	24.0	-	-				
BBA/4512/16	YASH KHANNA	<u> </u>	L A		A	24.0	A	16.0	-	-	A	24.0	A	24.0	A	24.0	-	-	150.0	19.0	7.89	-
			J E	_	A	24.0	В	12.0	_		В	18.0	В	18.0								
BBA/4514/16	SIMSON TOPPO	li li		12.0	В	18.0	-	12.0	B+	21.0	-	-		-				_	123.0	19.0	6.47	-
		1	J B	+ 14.0	A	24.0	A	16.0	A+	27.0	В	18.0	_	_	B+	21.0		_				
BBA/4517/16	DIVYA PANT	ŀ	L B		-	-	-	-	-	-	-	-	_	_	-	-		-	138.0	19.0	7.26	-
		1	J A	⊣├──	Α	24.0	A	16.0	A+	27.0	B+	21.0	-	-	A	24.0	-	-				
BBA/4521/16	JYOTI KARAYAT	ļī.	L A	24.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	152.0	19.0	8.00	-
DD 4 /4522/17	CUDITI MICHDA	1	J B	+ 14.0	A	24.0	A	16.0	-	-	-	-	-	-	B+	21.0	-	-	150.0	10.0	7.00	
BBA/4522/16	SHRUTI MISHRA		L A	+ 27.0	B+	21.0	-	-	A+	27.0	-	-	-	-	-	-	-	-	150.0	19.0	7.89	

: MGT INFORMATION SYSTEM BBA6001(2) BBA6015(3) : INTERNATIONAL FINANCE BBA6002(3) : PROJECT-II BBA6017(3) : MANPOWER PLANNING BBA6003(2) : PROJECT MGT BBA6019(3) : INDUSTRIAL RELATION BBA6005(3) : INTERNATIONAL MARKETING BBA6021(3) : TRAINING AND DEVELOPMENT BBA6007(3) : ADVERTISING MANAGEMENT BBA1003(3) : BUSINESS STATISTICS BBA6009(3) : SERVICES MARKETING BBA1005(3) : BUSINESS ECONOMICS

BBA6011(3) : BANKING CONCEPTS & PRACTICES BBA1007(3) : INTRODUCTION TO BUSINESS ACCOUNTING BBA6013(3) : SECURITIES & SECURITY MARKET BBA1009(3) : FUNDAMENTALS OF COMPUTING

Disclaimer

Disclaimer :	: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade
	card. Original Grade card will be issued by the institute in due time.

Reference: EXAM / JPP / BITIC / NOIDA / BBA-SIXTH / (SP/19) / 2018-2019

By the order of Examination committee, the following is the result of BBA - SIXTH Semester held in the month of APRIL-2019 Date : 08-JUNE-2019

SESSION	N : 2018-2019	CLASS : BB	A	BR	ANCH	: MA	NAGEM	IENT				SEI	MESTE	R / TRIM	1ESTEI	R : SI	XTH		MONTH O	F EXAM :	APRIL	-2019
		U	BBA	A6001(2)	BBA6	0002(3)	BBA	5003(2)	BBA	5005(3)	BBA	6007(3)	BBA	5009(3)	BBA	5011(3)	BBA6	013(3)				
ROLL NO	NAME	I	BBA	6015(3)	BBA	5017(3)	BBA	5019(3)	BBA	5021(3)	BBA	003(3)	BBA	1005(3)	BBA	.007(3)	BBA1	009(3)	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BBA/4524/16	SWAPNIL RAJ	U	B+	14.0	A	24.0	В	12.0	B+	21.0	-	-	A	24.0	B+	21.0	-	-	137.0	19.0	7.21	_
BBA/4324/10	SWAINE KAJ	I	B+	21.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	137.0	17.0	7.21	
BBA/4525/16	ARNAV SARKAR	τ	В	12.0	B+	21.0	В	12.0	_	-	В	18.0	В	18.0	В	18.0	-	-	117.0	19.0	6.16	_
BB15 1020/10	THE WAY STATE IN	I	В	18.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	117.0	17.0	0.10	
BBA/4526/16	GAURAV BOGRA	Ţ	В	12.0	B+	21.0	В	12.0	A	24.0	-	-	В	18.0	B+	21.0	-	-	129.0	19.0	6.79	_
		I	B+	21.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-				
BBA/4527/16	MANSI RAI	Ţ	B+	14.0	A+	27.0	B+	14.0	A	24.0	В	18.0	-	-	B+	21.0	-	-	136.0	19.0	7.16	-
		I	В	18.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-				
BBA/4528/16	HARSH KAUSHIK		В	12.0	A	24.0	В	12.0	B+	21.0	С	15.0	-	-	В	18.0	-	-	120.0	19.0	6.32	-
		L	B B+	18.0	- A+	27.0	 A	16.0	- A	24.0	В	18.0		-	- B+	21.0	-	-				
BBA/4529/16	ADITI NAGAR		B+	21.0	A+	27.0	A	16.0	A	24.0	В	18.0		-	B+	21.0	-	-	141.0	19.0	7.42	-
			╬──	╁			_		_	24.0	D											
BBA/4531/16	APARNA RANJAN		С	10.0	A+	27.0	A	16.0	A	24.0	B+	21.0	-		-	-	-	-	140.0	19.0	7.37	-
		<u>  L</u>	- I	- 140	B+	21.0	- D:	- 140	B+	21.0	-	-	-	-	- D:	- 21.0	-	-				
BBA/4532/16	SHAVIK BARAL		B+	14.0	A+	27.0	B+	14.0	A	24.0	A	24.0	-	-	B+	21.0	-	-	145.0	19.0	7.63	-
			B+ B+	21.0	- A	24.0	 A	16.0	- A+	27.0	- B+	21.0	-	-	- A	24.0	-	-				
BBA/4533/16	MAYANK MEHTA		B+	21.0	A	24.0	A	10.0	Α⊤	27.0	- D⊤	21.0	_		- A	24.0			147.0	19.0	7.74	-
			A	16.0	- A+	27.0	A	16.0	A+	27.0	A+	27.0	_		A+	27.0		_				
BBA/4534/16	UDAYAN MALAVIYA		A	24.0	-	-	-	-	-	-	-	-	_	_	-	-			164.0	19.0	8.63	-
			В	12.0	A	24.0	B+	14.0	A	24.0	В	18.0	-	_	B+	21.0		_				
BBA/4535/16	ARNAV GAUTAM	Ī	В	18.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	131.0	19.0	6.89	-
		τ	В	12.0	A	24.0	B+	14.0	A	24.0	B+	21.0	-	-	B+	21.0	B+	21.0	12.7	10.0		
BBA/4536/16	SANDEEP SINGH	Ī	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	137.0	19.0	7.21	-

BBA6001(2) : MGT INFORMATION SYSTEM BBA6015(3) : INTERNATIONAL FINANCE BBA6002(3) : PROJECT-II BBA6017(3) : MANPOWER PLANNING BBA6003(2) : PROJECT MGT BBA6019(3) : INDUSTRIAL RELATION BBA6005(3) : INTERNATIONAL MARKETING BBA6021(3) : TRAINING AND DEVELOPMENT : ADVERTISING MANAGEMENT BBA6007(3) BBA1003(3) : BUSINESS STATISTICS

BBA6009(3) : SERVICES MARKETING BBA1005(3) : BUSINESS ECONOMICS : BANKING CONCEPTS & PRACTICES : INTRODUCTION TO BUSINESS ACCOUNTING BBA1007(3)

BBA6011(3) BBA6013(3) : SECURITIES & SECURITY MARKET BBA1009(3) FUNDAMENTALS OF COMPUTING

Disclaimer

aimer

: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time.

Reference: EXAM / JPP / BITIC / NOIDA / BBA-SIXTH / (SP/19) / 2018-2019

By the order of Examination committee, the following is the result of BBA - SIXTH Semester held in the month of APRIL-2019 Date: 08-JUNE-2019

SESSION	N : 2018-2019	CLASS : E	зва		BF	RANCH	: MA	NAGEM	ENT				SE	MESTE	R / TRIN	1ESTEI	R : SE	XTH		MONTH O	FEXAM:	APRIL	-2019
			U	BBA	5001(2)	BBA6	6002(3)	BBA	6003(2)	BBA	6005(3)	BBA	5007(3)	BBA	6009(3)	BBA	6011(3)	BBA6	5013(3)				
ROLL NO	NAME		L	BBA6	5015(3)	BBA	5017(3)	BBA	5019(3)	BBA6	6021(3)	BBA	1003(3)	BBA	1005(3)	BBA1	.007(3)	BBA1	.009(3)	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
				GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BBA/4537/16	JAYENDRA KASHYAP		U	B+	14.0	A	24.0	A	16.0	A	24.0	B+	21.0	-	-	A	24.0	В	18.0	141.0	19.0	7.42	_
BBIU 1337/10	STITE OF THE STITE OF		L	-	-	-		-	-	-	-	-	-	-	-	-		-		111.0	17.0	7.12	
BBA/4538/16	ATULYA H.S		U	В	12.0	В	18.0	A	16.0	B+	21.0	A	24.0	-	-	B+	21.0	-	-	136.0	19.0	7.16	_
			L	A	24.0	-	-	-	-	-	-	-	-	-	-	-		-	-				
BBA/4539/16	PRASHANT YADAV		U	B+	14.0	A	24.0	B+	14.0	-	-	B+	21.0	B+	21.0	A	24.0	В	18.0	136.0	19.0	7.16	-
			L	- D:	140	-	- 24.0	- D	- 12.0	-	-	- D	10.0	-	-	- D:	- 21.0	-	-				
BBA/4541/16	KARNIK SHARMA		T	B+	14.0	A	24.0	В	12.0	A	24.0	В	18.0	_	-	B+	21.0	-	-	134.0	19.0	7.05	-
			L	B <sup>+</sup>	12.0	A	24.0	C	10.0	- B+	21.0	В	18.0					-	-			<u>  </u> 	
BBA/4542/16	SREENA CHANDRAN		L	_ Б	12.0	В	18.0	В	18.0	Б,	21.0	_ Б	-							121.0	19.0	6.37	-
			U	В	12.0	A+	27.0	B+	14.0	_	_	_	_	-	_	A	24.0	_	_				
BBA/4544/16	SUKANYA MALLICK		L	В	18.0	B+	21.0	-	-	A	24.0	-	-	-	-	-	-	-	-	140.0	19.0	7.37	-
			U	В	12.0	Α	24.0	A	16.0	_	_	B+	21.0	A	24.0	B+	21.0	Α	24.0		,		
BBA/4545/16	APURV SRIVASTAVA		Ī.		-				-	_	_		-						-	142.0	19.0	7.47	-
			U	B+	14.0	A	24.0	A+	18.0	_	_	-	_	-	_	A+	27.0	_				! <u> </u>	
BBA/4547/16	PRIYANKA SHIVA		L	A	24.0	B+	21.0	A	24.0	-	-	-	-	-	-	-	-	-	-	152.0	19.0	8.00	-
			U	B+	14.0	A	24.0	B+	14.0	-	-	-	-	-	-	B+	21.0	-	-				
BBA/4548/16	PRIYA BHARDWAJ		L	B+	21.0	-	-	B+	21.0	A	24.0	-	-	-	-	-	-	-	-	139.0	19.0	7.32	-
DD 4 /45 40/1 (	CANICIDAAN		U	С	10.0	A	24.0	B+	14.0	A	24.0	B+	21.0	-	-	-	-	-	-	120.0	10.0	7.26	
BBA/4549/16	SAVI SUMAN		L	-	-	-	-	B+	21.0	A	24.0	-	-	-	-	-	-	-	-	138.0	19.0	7.26	-
BBA/4552/16	SWATIDAS		U	B+	14.0	A	24.0	B+	14.0	A	24.0	B+	21.0	-	-	-	-	-	-	142.0	19.0	7.47	_
DDA/4332/10	SWAIIDAS		L	-	-	B+	21.0	-	-	A	24.0	_	-	-	-	-	-	-	-	142.0	17.0	/.4/	
BBA/4554/16	BHARTI JOSHI		U	В	12.0	A	24.0	B+	14.0	-	-	-	-	-	-	A	24.0	-	-	149.0	22.0	6.77	_
2271 133 1/10	DIL ECTIVOSIII		L	В	18.0	В	18.0	-	-	B+	21.0	-	-	-	-	В	18.0	-	-	117.0	22.0	0.,,	

: MGT INFORMATION SYSTEM BBA6001(2) BBA6015(3) : INTERNATIONAL FINANCE BBA6002(3) : PROJECT-II BBA6017(3) : MANPOWER PLANNING BBA6003(2) : PROJECT MGT BBA6019(3) : INDUSTRIAL RELATION BBA6005(3) : INTERNATIONAL MARKETING BBA6021(3) : TRAINING AND DEVELOPMENT BBA6007(3) : ADVERTISING MANAGEMENT BBA1003(3) : BUSINESS STATISTICS BBA6009(3) : SERVICES MARKETING BBA1005(3) : BUSINESS ECONOMICS

BBA6011(3) : BANKING CONCEPTS & PRACTICES BBA1007(3) : INTRODUCTION TO BUSINESS ACCOUNTING BBA6013(3) : SECURITIES & SECURITY MARKET BBA1009(3) : FUNDAMENTALS OF COMPUTING

Disclaimer

Disclaimer :	: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade
	card. Original Grade card will be issued by the institute in due time.

Reference: EXAM / JPP / BITIC / NOIDA / BBA-SIXTH / (SP/19) / 2018-2019

By the order of Examination committee, the following is the result of BBA - SIXTH Semester held in the month of APRIL-2019 Date: 08-JUNE-2019

SESSIO	N : 2018-2019	CLASS : BE	A	I	3RANC	H : M	IANAGI	EMENT					SEME	ESTER /	TRIME	STER	: SIX	TH	МО	NTH OF EX.	AM :	APRIL-2019
		U	BBA	6001(2)	BBA6	5002(3)	BBA6	003(2)	BBA	5005(3)	BBA6	5007(3)	BBA	5009(3)	BBA6	5011(3)	BBA	6013(3)	momat on Entr	TOTAL		
ROLL NO	NAME	L	BBA	6015(3)	BBA	5017(3)	BBA	5019(3)	BBA	5021(3)	BBA1	003(3)	BBA	1005(3)	BBA1	.007(3)	BBA	.009(3)	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BBA/4555/16	PRAVIKA SRIVASTAVA	U	A	16.0	A+	27.0	A	16.0	A	24.0	B+	21.0	-	-	A+	27.0	-	-	155.0	19.0	8.16	-
		L	A	24.0	-	-	-	-		-	-	-	-	-	-	-	-	-				
BBA/4557/16	ADARSH NAYAN	U	B+	14.0	A	24.0	A	16.0	B+	21.0	В	18.0	-	-	Α	24.0	В	18.0	135.0	19.0	7.11	-
		L	-	- 12.0	-	-	-	-	_	-	-	-	-	-	-	-	-	-				
BBA/4559/16	AYUSHMAN BHARTI		В	12.0	A B	24.0	B+	14.0	- A	24.0	В	18.0	B+	21.0	-	-	-	-	131.0	19.0	6.89	-
		T.	В	12.0	B+	21.0	A	16.0	A	24.0		_			A	24.0	_					
BBA/4561/16	PRATEEK PANDEY	L	B+	21.0	B+	21.0	-	-	A	24.0		<del>-</del>	_	<u> </u>	-	-	_	-	139.0	19.0	7.32	-
		U	B+	14.0	B+	21.0	B+	14.0	-	-	В	18.0	В	18.0	-	-	-	-				
BBA/4562/16	SANA MALANG	I	<u> </u>	-	B+	21.0	-	-	A	24.0	-	-	-	-	-	-	-	-	130.0	19.0	6.84	-
DD 4 /45 (7/1 (	AYUSHI GUPTA	U	A+	18.0	A+	27.0	A+	18.0	-	-	-	-	-	-	Ex	30.0	-	-	171.0	19.0	0.00	
BBA/456//16	A Y USHI GUPTA	L	A	24.0	A+	27.0	-	-	A+	27.0	-	-	-	-	-	-	-	-	171.0	19.0	9.00	-
DD A /4569/16	ARUSHI GOEL	U	B+	14.0	A	24.0	B+	14.0	B+	21.0	В	18.0	-	-	-	-	-	-	133.0	19.0	7.00	
BBA/4308/10	AKUSHI GOEL	L	-	-	В	18.0	-	-	A	24.0	-	-	-	-	-	-	-	-	133.0	19.0	7.00	-
DDA /4560/16	VIKHYAT SHARMA	U	В	12.0	Α	24.0	В	12.0	B+	21.0	D	12.0	-	-	-	-	-	-	141.0	22.0	6.41	UNFAIR MEANS
BBA/4309/10	VIKITIAT SHARWA	L	-	-	B+	21.0	-	-	B+	21.0	-	-	В	18.0	-	-	-	-	141.0	22.0	0.41	UNITAIR WEARS
BBA/4572/16	SHEFFALI SINHA	U	B+	14.0	A	24.0	B+	14.0	В	18.0	В	18.0	-	-	-	-	-	-	130.0	19.0	6.84	_
BB/04372/10	SHELL VIEW SHALL	L		-	В	18.0	_		Α	24.0	-	-	-	-	-	-	-	_	130.0	17.0	0.04	_
BBA/4573/16	RUCHI TRIPATHI	U	B+	14.0	B+	21.0	В	12.0	A	24.0	-	-	A	24.0	B+	21.0	-		137.0	19.0	7.21	_
		L	B+	21.0	-		-	-		-	-	-	-	-	-	-	-	-				
BBA/4577/16	SIDDHANT SHARMA	U	A	16.0	Α	24.0	A	16.0	A	24.0	B+	21.0	-	-	A+	27.0	A	24.0	152.0	19.0	8.00	-
		I.	- P	12.0	- D	- 21.0	- D	- 14.0	-	- 24.0	- D:	- 21.0	-	-	- D:	- 21.0	-	-				
BBA/4580/16	ANANT CHHABRA		В	12.0	B+	21.0	B+	14.0	A	24.0	B+	21.0	-	_	B+	21.0	-	-	131.0	19.0	6.89	-
	Ī	L	В	18.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-				,

BBA6001(2) : MGT INFORMATION SYSTEM : INTERNATIONAL FINANCE BBA6015(3) BBA6002(3) : PROJECT-II BBA6017(3) : MANPOWER PLANNING BBA6003(2) : PROJECT MGT BBA6019(3) : INDUSTRIAL RELATION BBA6005(3) : INTERNATIONAL MARKETING BBA6021(3) : TRAINING AND DEVELOPMENT BBA6007(3) : ADVERTISING MANAGEMENT BBA1003(3) : BUSINESS STATISTICS BBA6009(3) : SERVICES MARKETING BBA1005(3) : BUSINESS ECONOMICS : INTRODUCTION TO BUSINESS ACCOUNTING BBA6011(3) : BANKING CONCEPTS & PRACTICES BBA1007(3)

BBA6013(3) : SECURITIES & SECURITY MARKET BBA1009(3) FUNDAMENTALS OF COMPUTING

Disclaimer

Disclaimer :	: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade
	card. Original Grade card will be issued by the institute in due time.

Reference: EXAM / JPP / BITIC / NOIDA / BBA-SIXTH / (SP/19) / 2018-2019

By the order of Examination committee, the following is the result of BBA - SIXTH Semester held in the month of APRIL-2019 Date : 08-JUNE-2019

SESSION	N : 2018-2019	CLASS : BB	A	ВІ	RANCH	: MA	NAGEN	IENT				SEI	MESTE	R / TRIN	//ESTEI	R : SI	XTH		MONTH C	F EXAM :	APRIL	-2019
		J	BB	A6001(2)	BBA	5002(3)	BBA	5003(2)	BBA6	6005(3)	BBA	6007(3)	BBA	5009(3)	BBA6	6011(3)	BBA	5013(3)				
ROLL NO	NAME	I	ВВ	A6015(3)	BBA	6017(3)	BBA	6019(3)	BBA6	6021(3)	BBA	003(3)	BBA	1005(3)	BBA1	.007(3)	BBA	1009(3)	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BBA/4581/16	ADITYA DESHPANDE L	Ţ	J C	10.0	A+	27.0	B+	14.0	A	24.0	B+	21.0	-	-	A	24.0	-	-	141.0	19.0	7.42	_
BB/1 1301/10	TIBIT THE BESILITATIVE E	I	. B+		-	-	-	-	-	-	-	-	-	-	-	-	-	-	111.0	15.0	7.12	
BBA/4582/16	AKHIL KUMAR JHA	Ţ	J <b>B</b> +		A+	27.0	A+	18.0	-	-	-	-	-	-	A+	27.0	-	-	164.0	19.0	8.63	_
		I	. A⊣		A	24.0	-	-	A+	27.0	-	-	-	-	-	-	-	-				
BBA/4583/16	AYUSH BAID	Į.	J B+		A	24.0	B+	14.0	A+	27.0	В	18.0	-	-	A+	27.0	-	-	148.0	19.0	7.79	-
		I	. A	_	-	-	-	-	-	-	-	-	-	-	-	-	-	-				
BBA/4587/16	DARSHEL GUPTA		Ј В	_	A	24.0	В	12.0	B+	21.0	-	-	B+	21.0	B+	21.0	-	-	129.0	19.0	6.79	-
		1	B		-	- 24.0	- D:	14.0		-	- D	10.0	-	24.0	-	24.0	- В	10.0			<u> </u> 	
BBA/4589/16	MISHAL KESHRI		J A	16.0	A	24.0	B+	14.0	-	-	В	18.0	A	24.0	A	24.0	В	18.0	138.0	19.0	7.26	-
		1	J B+	14.0	- A	24.0	B+	14.0	A	24.0	- B+	21.0	_			_					<u> </u>	<u> </u>
BBA/4592/16	JYOTSANA		/ B	14.0	B+	21.0	A	24.0	-	24.0		-	<del>-</del>	<del>-</del>					142.0	19.0	7.47	-
		1	J C	10.0	B+	21.0	В	12.0	В	18.0	С	15.0			_							
BBA/4593/16	AKSHAY SHARMA			10.0	D,	21.0	С	15.0	B+	21.0		13.0	_		В	18.0			130.0	22.0	5.91	-
		1	J B+	14.0	- B+	21.0	B+	14.0	B+	21.0	C	15.0			B+	21.0					<u> </u>	<u> </u>
BBA/4596/16	AMANDEEP SINGH		В		Б,	21.0	ъ,	14.0	ъ-	21.0	_	13.0	_		ъ,	21.0			124.0	19.0	6.53	-
		I	J B+		A	24.0	B+	14.0	В	18.0	В	18.0	_		_		_				<u>                                     </u>	
BBA/4597/16	ANISHA BISHT		-	-	B+	21.0	_	-	A	24.0	-	-	_	_	_	_	_	_	133.0	19.0	7.00	-
		J	J <b>B</b> +	14.0	С	15.0	В	12.0	-	-	В	18.0	B+	21.0	A	24.0	B+	21.0			! <u> </u>	
BBA/4598/16	KUNAL GUPTA	Ī	<i>_</i>	<u> </u>	-	-	-	-	-	-	-	-	-	-	-	-	-	-	125.0	19.0	6.58	-
DD + (4500 ii i	ar 10.11 . 1.10 . 1.10	τ	J B+	14.0	A	24.0	B+	14.0	В	18.0	С	15.0	-	-	A	24.0	-	-	125.0	10.0		
BBA/4599/16	SUDHANSHU		В	18.0	-		-	-	-	-	-	-	-	-	-	-	-		127.0	19.0	6.68	-
DD 4 /4600/16	SHRIYA KAPOOR	Ţ	J B+	14.0	A	24.0	B+	14.0	A	24.0	В	18.0	-	-	-	-	-	-	142.0	19.0	7.47	
DBA/4000/16	SIRITA KAPUUK	I	_	_	B+	21.0	-	-	A+	27.0	-	-	-	-	-	-	-	-	142.0	19.0	/.4/	

BBA6001(2) : MGT INFORMATION SYSTEM : INTERNATIONAL FINANCE BBA6015(3) BBA6002(3) : PROJECT-II BBA6017(3) : MANPOWER PLANNING BBA6003(2) : PROJECT MGT BBA6019(3) : INDUSTRIAL RELATION BBA6005(3) : INTERNATIONAL MARKETING BBA6021(3) : TRAINING AND DEVELOPMENT BBA6007(3) : ADVERTISING MANAGEMENT BBA1003(3) : BUSINESS STATISTICS BBA6009(3) : SERVICES MARKETING BBA1005(3) : BUSINESS ECONOMICS

: INTRODUCTION TO BUSINESS ACCOUNTING BBA6011(3) : BANKING CONCEPTS & PRACTICES BBA1007(3)

BBA6013(3) : SECURITIES & SECURITY MARKET BBA1009(3) FUNDAMENTALS OF COMPUTING

Disclaimer

Disclaimer :	: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade
	card. Original Grade card will be issued by the institute in due time.

Reference: EXAM / JPP / BITIC / NOIDA / BBA-SIXTH / (SP/19) / 2018-2019

By the order of Examination committee , the following is the result of BBA - SIXTH Semester held in the month of APRIL-2019 Date : 08-JUNE-2019

SESSION	N : 2018-2019	CLASS : BB.	A	BF	RANCH	: MA	NAGEN	IENT				SEN	/IESTE	R / TRIM	IESTE	R : SI	XTH		MONTH O	F EXAM :	APRIL	-2019
ROLL NO	NAME	L		.6001(2) .6015(3)		5002(3) 2003(3)	BBA	6003(2) 6019(3)		5005(3) 5021(3)		007(3)		5009(3) 1005(3)		5009(3)		005(3)	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
DD A /45/12/16	SHIKHAR KUNDRA	U	C	10.0	В	18.0	В	12.0	В	18.0	С	15.0	D	12.0	В	18.0	-	-	160.0	28.0	5.71	_
BBA/4343/10	SHIKHAK KUNDKA	L	B+	21.0	A	24.0	-	-	-	-	-	-	-	-	D	12.0	-	-	100.0	28.0	3./1	-
DD 4 /4566/16	SHUBHAM KUMAR	U	В	12.0	A	24.0	В	12.0	B+	21.0	В	18.0	-	-	-	-	В	18.0	162.0	25.0	6.48	
BBA/4300/10	SHUBHAM KUMAK	L	-	-	В	18.0	В	18.0	B+	21.0	-	-	-	-	-	-	-	-	102.0	23.0	0.48	-
DD 4 /4575/16	MOLUT DA DILICII	U	С	10.0	A	24.0	В	12.0	С	15.0	С	15.0	D	12.0	B+	21.0	-	-	157.0	28.0	5.61	
BBA/43/3/10	MOHIT DADHICH	L	В	18.0	-	-	-	-	-	-	-	-	-	-	D	12.0	В	18.0	137.0	28.0	3.01	-
DD 4 /4570/16	ANIZIT DAO	U	В	12.0	B+	21.0	B+	14.0	С	15.0	В	18.0	-	-	B+	21.0	-	-	155.0	25.0	6.20	
BBA/4579/16	ANKII KAU	L	В	18.0	-	-	-	-	-	-	В	18.0	В	18.0	-	-	-	-	133.0	23.0	6.20	-
DD 4 /4500/16	VICIDILIIADI VIDAAD	U	B+	14.0	A	24.0	B+	14.0	B+	21.0	B+	21.0	-	-	A	24.0	-	-	162.0	22.0	7.41	
BBA/4390/16	VISHNU HARI KUMAR	L	A	24.0	B+	21.0	-	-	-	-	-	-	-	-	_	-	-	-	163.0	22.0	7.41	-

BBA6001(2) : MGT INFORMATION SYSTEM BBA6015(3) : INTERNATIONAL FINANCE

BBA6002(3) : PROJECT-II BBA2003(3) : QUANTITATIVE TECHNIQUES IN MANAGEMENT

BBA6003(2) : PROJECT MGT BBA6019(3) : INDUSTRIAL RELATION
BBA6005(3) : INTERNATIONAL MARKETING BBA6021(3) : TRAINING AND DEVELOPMENT

BBA6007(3) : ADVERTISING MANAGEMENT BBA3001(3) : RESEARCH METHODOLOGY
BBA5009(3) : STRATEGIC MANAGEMENT BBA1005(3) : BUSINESS ECONOMICS
BBA6011(3) : BANKING CONCEPTS & PRACTICES BBA5009(3) : STRATEGIC MANAGEMENT

BBA2005(3) : BASICS OF FINANCIAL MANAGEMENT BBA1009(3) FUNDAMENTALS OF COMPUTING

Di

Controller of Examinations

Disclaimer

Disclaimer : Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time.

Reference: EXAM / JPP / BITIC / NOIDA / BBA-SIXTH / (SP/19) / 2018-2019

Disclaimer

By the order of Examination committee, the following is the result of BBA - SIXTH Semester held in the month of APRIL-2019 Date: 08-JUNE-2019

SESSION	N : 2018-2019	CLASS : BB	A	BI	RANCH	: MA	NAGEM	IENT				SEI	MESTE	R / TRIM	IESTEI	R : SI	XTH		MONTH O	F EXAM :	APRIL	-2019
ROLL NO	NAME	L		A6001(2) A6015(3)		6002(3) 6017(3)		5003(2) 2003(3)		6005(3) 6005(3)		0007(3)		5009(3) 1005(3)		5011(3) 1007(3)		6013(3) 6001(2)	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR	. PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
DD A /4510/16	DIVYANSH BHATIA	U	В	12.0	A	24.0	В	12.0	В	18.0	-	-	B+	21.0	В	18.0	-	-	148.0	24.0	6.17	
BBA/4319/10	DIVIANSII BIIATIA	I	В	18.0	-	-	-	-	-	-	С	15.0	-	-	-	-	C	10.0	146.0	24.0	0.17	
DD 4 /4551/16	TUSHAR SHARMA	U	J C	10.0	В	18.0	В	12.0	В	18.0	С	15.0	-	-	B+	21.0	-	_	130.0	22.0	5.91	
BBA/4331/10	TUSHAK SHAKWA	I	В	18.0	-	-	-	-	В	18.0	-	-	-	-	-	-	-	-	130.0	22.0	3.91	_
DD 4 /4552/16	RISHABH BHATT	U	В-	14.0	A	24.0	С	10.0	В	18.0	С	15.0	-	-	В	18.0	-	-	159.0	25.0	6.36	
BBA/4333/10	КІЗПАВП ВПАТТ	I	В	18.0	-	-	B+	21.0	-	-	-	-	-	-	B+	21.0	-	-	139.0	23.0	0.30	_
DD 4 /4560/16	UTKARSH BISHT	U	ГС	10.0	A	24.0	B+	14.0	-	-	В	18.0	B+	21.0	-	-	B+	21.0	168.0	25.0	6.72	
DDA/4300/10	UTKAKSH BISHT	I	В	- 21.0	-	-	В	18.0	-	-	-	-	B+	21.0	-	-	-	-	108.0	23.0	0.72	_
DD 4 /4562/16	SAKET MANGLAM	U	В	12.0	B+	21.0	С	10.0	-	-	С	15.0	В	18.0	B+	21.0	С	15.0	130.0	22.0	5.91	
BBA/4303/10	SAKET MANGLAM	I		-	-	-	В	18.0	-	-	-	-	-	-	-	-	-	-	130.0	22.0	3.91	-

BBA6001(2) : MGT INFORMATION SYSTEM BBA6015(3) : INTERNATIONAL FINANCE BBA6002(3) : PROJECT-II BBA6017(3) : MANPOWER PLANNING

BBA6003(2) : PROJECT MGT BBA2003(3) : QUANTITATIVE TECHNIQUES IN MANAGEMENT
BBA6005(3) : INTERNATIONAL MARKETING BBA4005(3) : FUNDAMENTALS OF OPERATIONS RESEARCH

BBA6007(3) : ADVERTISING MANAGEMENT BBA1003(3) : BUSINESS STATISTICS
BBA6009(3) : SERVICES MARKETING BBA1005(3) : BUSINESS ECONOMICS

BBA6011(3) : BANKING CONCEPTS & PRACTICES BBA1007(3) : INTRODUCTION TO BUSINESS ACCOUNTING

BBA6013(3) : SECURITIES & SECURITY MARKET BBA4001(2) QUALITATIVE DATA ANALYSIS

Disclaimer

: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time.

Reference: EXAM / JPP / BITIC / NOIDA / BBA-SIXTH / (SP/19) / 2018-2019

Disclaimer

By the order of Examination committee, the following is the result of BBA - SIXTH Semester held in the month of APRIL-2019 Date: 08-JUNE-2019

SESSION	N : 2018-2019	CLASS : BB	A	BI	RANCH	: MA	NAGEM	IENT				SEI	MESTE	R / TRIM	MONTH OF EXAM : APRIL-2019							
ROLL NO	NAME	L	BBA6001(2) BBA6015(3)		BBA6002(3) BBA6017(3)		BBA6003(2) BBA2003(3)		BBA6005(3) BBA4005(3)		BBA6007(3) BBA1003(3)		BBA6009(3) BBA1005(3)		BBA6011(3) BBA1007(3)		BBA6013(3) BBA4001(2)		TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR	. PT.	GR.	PT.	GR.	PT.	GR.	PT.												
BBA/4519/16	DIVYANSH BHATIA	U	В	12.0	A	24.0	В	12.0	В	18.0	-	-	B+	21.0	В	18.0	-	-	148.0	24.0	6.17	-
	DIVIANSII BIIATIA		В	18.0	-	-	-	-	-	-	С	15.0	-	-	-	-	C	10.0				
DD 4 /4551/16	TUSHAR SHARMA	U	J C	10.0	В	18.0	В	12.0	В	18.0	С	15.0	-	-	B+	21.0	-	_	130.0	22.0	5.91	-
BBA/4331/10			В	18.0	-	-	-	-	В	18.0	-	-	-	-	-	-	-	-				
DD 4 /4552/16	RISHABH BHATT	U	В-	14.0	A	24.0	С	10.0	В	18.0	С	15.0	-	-	В	18.0	-	-	159.0	25.0	6.36	-
BBA/4333/10	КІЗПАВП ВПАТТ	I	В	18.0	-	-	B+	21.0	-	-	-	-	-	-	B+	21.0	-	-				
DD 4 /4560/16	UTKARSH BISHT	U	ГС	10.0	A	24.0	B+	14.0	-	-	В	18.0	B+	21.0	-	-	B+	21.0	160.0	25.0	6.72	-
DDA/4300/10	UTKAKSH BISHT	I	В	- 21.0	-	-	В	18.0	-	-	-	-	B+	21.0	-	-	-	-	168.0			
BBA/4563/16	CAVET MANCI AM	U	В	12.0	B+	21.0	С	10.0	-	-	С	15.0	В	18.0	B+	21.0	С	15.0	130.0	22.0	5.91	-
	SAKET MANGLAM	I		-	-	-	В	18.0	-	-	-	-	-	-	_	-	-	-	130.0			

BBA6001(2) : MGT INFORMATION SYSTEM BBA6015(3) : INTERNATIONAL FINANCE BBA6002(3) : PROJECT-II BBA6017(3) : MANPOWER PLANNING

BBA6003(2) : PROJECT MGT BBA2003(3) : QUANTITATIVE TECHNIQUES IN MANAGEMENT
BBA6005(3) : INTERNATIONAL MARKETING BBA4005(3) : FUNDAMENTALS OF OPERATIONS RESEARCH

BBA6007(3) : ADVERTISING MANAGEMENT BBA1003(3) : BUSINESS STATISTICS
BBA6009(3) : SERVICES MARKETING BBA1005(3) : BUSINESS ECONOMICS

BBA6011(3) : BANKING CONCEPTS & PRACTICES BBA1007(3) : INTRODUCTION TO BUSINESS ACCOUNTING

BBA6013(3) : SECURITIES & SECURITY MARKET BBA4001(2) QUALITATIVE DATA ANALYSIS

Disclaimer

: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time.

Reference: EXAM / JPP / BITIC / NOIDA / BBA-SIXTH / (SP/19) / 2018-2019

By the order of Examination committee , the following is the result of BBA - SIXTH Semester held in the month of APRIL-2019 Date : 08-JUNE-2019

SESSION	N : 2018-2019	CLASS : BB	A	BR				SEN	1ESTE	R / TRIM	MONTH OF EXAM : APRIL-2019											
ROLL NO	NAME	U	BBA6001(2) BBA6015(3)				( )										BBA2009(3) BBA1009(3)		TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.			i	
BBA/4540/16	DIA CHADMA	U	В	12.0	B+	21.0	B+	14.0	A	24.0	В	18.0	B+	21.0	-	-	B+	21.0	176.0	25.0	7.04	-
	RIA SHARWA		-	-	B+	21.0	-	-	A	24.0	-	-	-	-	-	-	-	-				
BBA/4578/16	DD A VEENI D AT VAN	Ţ	С	10.0	B+	21.0	С	10.0	С	15.0	D	12.0	-	-	В	18.0	-	-	101.0	19.0	5.32	-
	PRAVEEN BALIAN	L	С	15.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	101.0			

BBA6001(2) : MGT INFORMATION SYSTEM BBA6015(3) : INTERNATIONAL FINANCE BBA6002(3) : PROJECT-II BBA6017(3) : MANPOWER PLANNING

BBA6003(2) : PROJECT MGT BBA2003(3) : QUANTITATIVE TECHNIQUES IN MANAGEMENT

BBA6005(3) : INTERNATIONAL MARKETING BBA6021(3) : TRAINING AND DEVELOPMENT

BBA6007(3) : ADVERTISING MANAGEMENT BBA1003(3) : BUSINESS STATISTICS

BBA2005(3) : BASICS OF FINANCIAL MANAGEMENT BBA4005(3) : FUNDAMENTALS OF OPERATIONS RESEARCH

BBA6011(3) : BANKING CONCEPTS & PRACTICES BBA4001(2) : QUALITATIVE DATA ANALYSIS BBA2009(3) : BUSINESS COMMUNICATION II BBA1009(3) FUNDAMENTALS OF COMPUTING

Disclaimer

Disclaimer

: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time.